

**DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409**

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	N	INFO Rollingwood P.D: 2026 Chevy Tahoe PPV - Patrol (3) Warehouse: RROC Color: White	0.0000	0.00
3	3	N	Eco-Boost INFO FRONT OF VEHICLE Warehouse: RROC	0.0000	0.00
3	3	Y	BK2168TAH25 SMC PB450LR4 ALUM BUMPER MPOWER, 25 TAHOE Warehouse: RROC	880.3200	2,640.96
3	3	Y	HK0809TAH21 SETINA PUSHBUMPER WRAP 2021 TAHOE Warehouse: RROC	342.7200	1,028.16
6	6	Y	ETSS100J SOI 100J SERIES COMPOSITE SPEAKER Warehouse: RROC	201.6000	1,209.60
3	3	Y	Mount Behind Grille on Veh. Specific Bracket ETSSVBK07 SOI 2021 TAHOE SPEAKER BRACKET ASSY FOR 2 100J SPEAKER Warehouse: RROC *** USE ETSSVBK18 ***	35.9300	107.79

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	1

DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO
NEED ONLY ONE INVOICE PER SO
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	N	INFO TOP OF VEHICLE Warehouse: RROC	0.0000	0.00
3	3	Y	EMPLB01KE9-4Q7 SOI, MPWR LBAR, 55", RW/RBW/BW, RW/RA/RBA/BA/BW, HK38 Warehouse: RROC 55"/140cm 10-32 Volt MPOWER 6 INCH LED LIGHTBAR W/ 15' LIN DSC TECHNOLOGY /D08//D08//D12 D12 D12 T18 D12 D12 D12 D08\\D08\\ /R_W R_W R_W R_W RBW B_W B_W B_W B_W\\B_W\\ D08 SILVER O D08 R_W CLEAR O B_W \\D08\\D08\\ D12 D12 D12 T18 D12 D12 D12 /D08//D08// \\R_W\\R_W\\R_A R_A R_A RBA B_A B_A B_A B_W//B_W// Accessories - PNFLBSPLT1, AUTO-DIM Mount - Fixed Height Mount (PMPLBK08) Hook - PNLFBF38 MISC ANTENNA & COAX KIT	2,954.9300	8,864.79
3	3	Y	 Warehouse: RROC	235.0000	705.00
3	3	N	INFO SIDE OF VEHICLE Warehouse: RROC	0.0000	0.00

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	2

**DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409**

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
6	6	Y	ESLRL61158 SOI, SL RUNNING, 61", 5MOD, R/B/W, 3CLR/TRIO Warehouse: RROC SL Running Light, 61" - 5 Module, Tricolor Red/Blue/White NEW BLUEPRINT SL RUNNING LIGHT PSLVBK03 SOI NLINE RUNNING LIGHTS MOUNT 2021 TAHOE Warehouse: RROC EMPS2STS5RBW SOI, MPWR FASCIA, 4", STM, BLK HSG, RED/BLU/WHT Warehouse: RROC Mount 1 in each Cargo Window with Shroud PMP2WSSSB SOI 4" MPOWER SINGLE WINDOW SHROUD-BLACK Warehouse: RROC ENT3B3RBW SOI INTERSECTOR 18-LED SFC MNT, BLK HSG RED/BLUE/WHITE Warehouse: RROC PMP2BKUMB5-D SOI 21+ TAHOE UNDER MIRROR BRACKET DRIVER SIDE Warehouse: RROC	339.2700 26.1300 140.9300 14.4700 191.8000 28.9300	2,035.62 156.78 845.58 86.82 1,150.80 86.79
3	3	Y			

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	3

DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method			
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		NET30			
Entered By	Salesperson		Ordered By	Resale Number				
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440				
Order Quantity	Approve Quantity	Tax	Item Number / Description		Unit Price	Extended Price		
3	3	Y	PMP2BKUMB5-P SOI 21+ TAHOE UNDER MIRROR BRACKET PASSENGER Warehouse: RROC		28.9300	86.79		
3	3	N	INFO REAR OF VEHICLE		0.0000	0.00		
3	3	Y	PMP1BK003 SOI MPOWER REAR WEDGE KIT FOR PILLAR TAH Warehouse: RROC		62.0700	186.21		
18	18	Y	EMPS1SLS4RBA SOI, MPWR FASCIA, 3", STM, BLK HSG, RED/BLU/AMB Warehouse: RROC		126.4700	2,276.46		
6	6	Y	6 PER Unit, PILLAR KIT EMPS2QMS5RBW SOI, MPWR FASCIA, 4", QM, BLK HSG, RED/BLU/WHT Warehouse: RROC		140.9300	845.58		
6	6	Y	Mount Vertically on Sides of License Plate EMPS2QMS5RBA SOI, MPWR FASCIA, 4", QM, BLK HSG, RED/BLU/AMB Warehouse: RROC		140.9300	845.58		
3	3	N	Mount under Hatch for Rear Lighting while opened INFO FRONT INTERIOR OF VEHICLE Warehouse: RROC		0.0000	0.00		

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	4

DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	Y	805-0022-00 STALKER Dual - 2 Antenna Radar System Warehouse: RROC END USER:	2,825.0000	8,475.00
3	3	Y	MAKE YEAR & MODEL: C-VS-1012-TAH-2 HAV 22" ANGLED CONSOLE, 2025 TAHOE PPV Warehouse: RROC	551.3300	1,653.99
3	3	Y	FACEPLATES/BRACKETS: C-ARM-102 HAV ARM REST - MOUNTS TO SIDE OF CONSOLE BOX Warehouse: RROC	76.6700	230.01
3	3	Y	CUP2-1001 HAV Self-Adjusting Double Cup Holder Warehouse: RROC	48.6700	146.01
6	6	Y	C-MCB HAV CONSOLE MICROPHONE CLIP BRACKET Warehouse: RROC	14.0000	84.00
3	3	Y	C-MD-119 HAV 11" SLIDE-OUT LOCKING SWING ARM - LOW PROFILE Warehouse: RROC	260.6700	782.01

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	5

**DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409**

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	Y	C-LP2-USB-BL2 HAV CONSOLE ACCESSORY BRACKET W/ 2 LIGHTER PLUG Warehouse: RROC	116.6700	350.01
3	3	Y	C-USB-3 HAV USB-C & USB Type A Dual Port Charger Warehouse: RROC	74.6700	224.01
3	3	Y	DS-PAN-1502N-4 HAV PANASONIC TOUGHBOOK 40 DOCKING STATION PACKAGE Warehouse: RROC Docking Station For Panasonic TOUGHBOOK 40 Laptop with Standard Port Replication & Quad Pass-Thru Antenna Connections & Havis Power Supply	1,162.0000	3,486.00
3	3	Y	C-EB40-SO5-1P HAVIS 500 SERIES BLUEPRINT REMOTE Warehouse: RROC C-EB40-SO5-1P 1-Piece Equipment Mounting Bracket, 4" Mounting Space, Fits SoundOff Signal 500 Series	26.6700	80.01
3	3	Y	C-EB25-XTL-1P HAV 1-PIECE EQ BRKT FOR XTL REMOTE HEADS & APX750 Warehouse: RROC 1 PIECE BRACKET FOR REMOTE RADIO CONTROL HEAD *****	23.3300	69.99

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	6

Continued on Next Page

**DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409**

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
6	6	Y	MMSU-1 MAGNETIC MIC SINGLE UNIT CONVERSION KIT Warehouse: RROC	35.0000	210.00
3	3	Y	ENGSA5200RSP SOI, 500 SERIES PUSHBTN 200W CNTRL, DUAL TONE, +VO Warehouse: RROC	970.6700	2,912.01
3	3	Y	ENGLMK001 SOI BLUPRINT LINK FOR 2021 TAHOE Warehouse: RROC	376.6000	1,129.80
3	3	Y	ENGSYM001 SOI SOUND OFF / BLUEPRINT SYNC MODULE Warehouse: RROC	259.9300	779.79
6	6	Y	ENGND04102 SOI 10 OUTPUT REMOTE NODE W/ MAGNETIC I.D. Warehouse: RROC	192.2700	1,153.62
6	6	Y	ENGNHK06 SOI 10FT REMOTE NODE HARNESS Warehouse: RROC	94.7300	568.38
3	3	Y	GK10342UHK SMC DUAL VERT. RACK 2 UNIV. LOCKS W/ HC KEY Warehouse: RROC "Dual T-Rail Mount2 Universal XL Handcuff Key Override"	469.6500	1,408.95

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	7

DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	N	INFO REAR INTERIOR OF VEHICLE Warehouse: RROC	0.0000	0.00
3	3	Y	PK1188TAH21 SMC 2021 TAH 10XL C2 PARTITION Warehouse: RROC	850.4500	2,551.35
3	3	Y	QK2041TAH21 SMC FULL REPLACEMENT TRANSPORT SEAT Warehouse: RROC	1,955.5200	5,866.56
3	3	Y	WK0514TAH21H SMC 2021 TAHOE WINDOW STEEL BARRIER, HORIZONTAL Warehouse: RROC 2021 Chevy Tahoe Window Steel Barrier, Horizontal FOR USE WITH: *Fits All Door Panels	245.6500	736.95
3	3	Y	DK0100TAH21 SMC 2021 TAHOE BLK TPO DOOR PANELS COVERS OEM PANELS Warehouse: RROC	253.1200	759.36
3	3	Y	DK0100TAH21 TK0233TAH21 SMC CARGO BOX FOR 2021 TAHOE Warehouse: RROC	1,402.9900	4,208.97

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	8

Continued on Next Page

**DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409**

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	Y	TPA9289 SMC CARGO BOX SLIDING ELECTRONICS TRAY Warehouse: RROC RADIO TRAY FOR CARGO BOX WITH NO LOCK ***** *DO NOT USE RADIO TRAY WITH ULTIMATE K9. RADIO TRAY BLOCKS SPARE TIRE*	291.1900	873.57
3	3	Y	5026B BlueSea 12 Circuit Fuse Block w/ Ground Bus and Cover Warehouse: RROC	50.0000	150.00
3	3	Y	5032B BLUE SEA SYSTEM FUSE BLOCK ST BLADE Warehouse: RROC	50.0000	150.00
3	3	Y	7615B BLUE SEA, SOLENOID TIMER 120A 12VDC ATD Warehouse: RROC	150.0000	450.00
3	3	Y	175-S8-100-2 IE SMD 100 AMP BREAKER Warehouse: RROC	25.0000	75.00
3	3	Y	TINT VEHICLE WINDOW TINT SPECS BELOW: Front 2 @ 30% Ceramic Warehouse: RROC	175.0000	525.00

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	9

DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT		
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	Y	GRAPHICS GRAPHICS FOR VEHICLE *PRICE INCLUDES INSTALL* Warehouse: RROC	1,250.0000	3,750.00
3	3	N	TRANSPORT VEHICLE TRANSPORTATION BY HIRED DRIVERS Warehouse: RROC	250.0000	750.00
3	3	Y	FUEL CHARGE FUEL CHARGE TO CUSTOMER Warehouse: RROC	50.0000	150.00
3	3	Y	PDI PRE-DELIVERY INSPECTION Warehouse: RROC	125.0000	375.00
3	3	N	INFO CUSTOMER SUPPLIED EQUIPMENT LISTED BELOW: Warehouse: RROC	0.0000	0.00
3	3	Y	AXON CAMERA SYSTEM APX 6500 RADIO INSTALL KIT MISC INSTALLATION SUPPLIES I.E. Warehouse: RROC LOOM, WIRE, HARDWARE, CONNECTORS, ETC *****	550.0000	1,650.00

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	10

Continued on Next Page

**DANA SAFETY SUPPLY, INC
500 S EDWARDIA DR
GREENSBORO, NC 27409**

Telephone: 800-845-0045

Sales Quote

Sales Quote No.	612035
Customer No.	SILSBEE

Bill To

SILSBEE FORD FLEET GROUP
NEED ONLY ONE INVOICE PER SO#
NEED ONLY ONE INVOICE PER SO#
SILSBEE, TX 77656

Ship To

(For Pickup)
ROUND ROCK WAREHOUSE
598 GREENHILL DRIVE
ROUND ROCK, TX 78665

Contact: SETH GAMBLIN
Telephone: 512-436-1313
E-mail: sgamblinsilsbeefleet@gmail.com

Contact: Braydon Joslin
Telephone: 512-781-4135
E-mail: bjoslin@danasafetysupply.com

Quote Date	Ship Via		F.O.B.	Customer PO Number	Payment Method
01/29/26	UPS GROUND FREIGHT		QUOTED FREIGHT	NET30	
Entered By	Salesperson		Ordered By	Resale Number	
Braydon Joslin	BRAYDON JOSLIN ROUND		Rollingwood P.D	17605331440	
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
3	3	Y	INSTALL DSS INSTALLATION OF EQUIPMENT Warehouse: RROC Approved By: _____ <input type="checkbox"/> Approve All Items & Quantities Quote Good for 30 Days	5,100.0000	15,300.00

Print Date	01/29/26
Print Time	04:55:58 PM
Page No.	11

Subtotal	85,224.66
Freight	2,100.00
Order Total	87,324.66

By accepting this quote/order, the customer expressly acknowledges and agrees that to the extent not expressly prohibited by law, and except to the extent arising from or relating to the gross negligence or willful misconduct of DSS, its agents or its employees, DSS shall not be liable to the customer, or any third party for any damage to the vehicle/products resulting from or arising out of any ACTS OF GOD, including without limitation, any fires, floods, earthquakes, tornados, hail or similar weather events.